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Self-testing (you need blawke paper or an exercise

book)

. Choose 10 Reywords and definitions from
Your knowledge organiser

. Copy those words and definitions on to the
Left hawd side of a page

. Fold the paper over lengthways, covering the
Left hand side where You copied the words
and definitions

. Try to write the 10 keywords and
definitions again from memory on the
folded over paper

. Check Your answers, correcting any
wistakes in a different colour

. Repeat until You can do recall all 10 words

and definitions corvectly from wmemory
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ODWKYV <U HUP
Topic/Skill Definition/Tips Example
1. Inequality | Aninequality says that two values aret y Mu
equal.
TMr
= M means that a is not equal to b.
2. Inequality 7 P Wnean is greater than 2 State the integers that satisfy
symbols 7z O ltheans is less than 3 FtOTQva
7 R Unheans is greater than or equal to
1 -1,0,1,2,3,4
Z Q Bheans is less than or equal to 6
3. Inequalities | Inequalities can be shown on a number li o—
on a Number T T !’
Line Open circlesare used for numbers thatal """~ TR
less than or greater than: OK NP ; 4.|..|...|_|..|...|_|_|..|_|...|.>
-5-4-3-21 0123 4°5 TOt
Closed circlesare used for numbers that | @ O
areless than or equal or greater than or | €177 T T TT"
equal : QKNR; 54324012345 FwQTO

4. Graphical
Inequalities

Inequalities can be represented on a
coordinate grid.

If the inequality isstrict (T P )Xthen use &
dotted line.

If the inequality isnot strict (T Q )Xhen
use asolid line.

Shadetheregion which satisfies all the
inequalities.

Shade the region that satisfies:
UPtTaTPs =J@ U (

i .
/1 x=1
/

&
4 !

| 2 4

5. Quadratic
Inequalities

Sketch the quadratic graphof the
inequality.

If the expression i «~ Rthen the answe
will be above the x-axis
If the expression iO "~ Qthen the answe
will be below the x-axis

Look carefully at the inequality symbol in
the question.

Look carefully if the quadratic is@ositive
or negative parabola

Solve the inequalityT F T Fst O r

Sketch the quadratic:
Y\ _ /
..3'1_‘

The required region is below the x-ax
so the final answer is:
FuOTOVwVv

If the question had beeR 1, the
answer would have been:
T OFKNT PvVv

6. Set Notation

A setis acollection of things usually
numbers, denoted with brackets

<ua xig §set.




<IT TRYwHDQV pWKH VHW

x | x>0

WKDW [ LV JUHDWHU WKE /,.f »
all x  such that x is greafer than zerc
7KH p[Y FDQ EH UIH®ODF H
6RPH SHRSOH XVH p 1 LQ <T+ FtQTOw=
7. A set oftwo or more equations each tTEULY
Simultaneous | involving two or more variables (letters). uT FUL z
Equations
Thesolutionsto simultaneous equations TLu
satisfy bothall of theequations ULSs
8. Variable A symbol, usually detter, which In the equationT E t L wrTis the
represents a numberwhich is usually variable.
unknown.
9. Coefficient | A number used tanultiply avariable. 6z
It is the number that comes before/in fron 6 is the coefficient
of a letter. z is the variable
10. Solving 1. Balancethecoefficientsof one of the wT E tU L {
Simultaneous | variables. ST EuU ¢x
Equations (by | 2. Eliminate this variable by adding or Multiply the first equation by 2.
Elimination) subtracting the equationSdme Sign
Subtract, Different Sign Add) sITEvVU &z
3. Solvethe linear equation you get using srT E uU &x
the other variable. Same Sign Subtract (+10x on both)
4. Substitute the value you found back int ULt
one of the previous equations.
5. Solvethe equation you get. SubstituteU L 1n to equation.
6. Check that the two values you get satis
both of the original equations. WTEtHtL{
wT EvL{
wT L w
TLs
Solution: T L sd U L t
11. Solving 1. Rearrange one of the equations into the UFtT L u
Simultaneous | form U L&&d La aa uT EvULs

Equations (by
Substitution)

2. Substitute the right-hand side of the
rearranged equation into the other equati
3. Expand andolvethis equation.

4. Substitute the value into theJ L &8& a
T L &eduation.

5. Checkthat the two values you get
satisfy both of the original equations.

RearrangeU FtT Lu\ U L tT E
Substitute;uT ENMT E 0l s
Solve:uTE zTHL s
ssT L s
TLFs

Substitute:U L t H Fs E u
ULs




Solution: T L FsaU L s

12. Solving
Simultaneous
Equations
(Graphically)

Draw the graphsof the two equations.

Thesolutionswill be where the lines
meet

The solution can be written as a
coordinate.

ULwFaRdU L tT F sa

They meet at the point with coordinat
(2,3) so the answer i L tandU L u

13. Solving
Linear and
Quadratic
Simultaneous
Equations

Method 1: If both equations are in the sat
form (eg. BothU L«

1. Set the equatioregjual to each other

2. Rearrangeto make the equaticegual
to zero.

3. Solvethe quadratic equation.

4. Substitute the values back in to one of
the equations.

Method 2: If the equations are not in the
same form:

1. Rearrangethe linear equation into the
foom U L&AB La aa

2. Substitute in to the quadratic equation.
3. Rearrangeto make the equatioequal
to zero.

4. Solvethe quadratic equation.

5. Substitute the values back in to one of
the equations.

You should getwo pairs of solutions(two
values for T, two values fo U)

Graphically, you should havevo points of
intersection.

Example 1
Solve

ULTFtTFendULTFSs

Answers: (4,3) and (-12)

Example 2
Sove TE U LwandTE U L u

UL sand
TLuFsLandT LuFtLSs

Answers: (2,1) and (1,2)

14. Arc Length
of a Sector

The arc length is part of the circumfereng

Take theangle givenas a fraction over
360°andmultiply by thecircumference

Arclength=2'H & H z L |




15. Area of a
Sector

The area of a sector is part of the total ar

Take theangle givenas a fraction over
360°andmultiply by thearea.

559
Area =——

Y . ,ﬁ
—,He H%L sxas

16. Translation

Translate means tanove a shape
The shape does not charggeeor
orientation.

17. Column

In a column vector, th®op number moves

APHDQV ULJKW X
Vector left (-) or right (+) and thebottom number @h QV H
movesup (+) or down (-)
éijPHDQV L OHIW G
18. Rotation | The size does not change, but shape is Rotate Shape A 90° anti-clockwise

turned around a point.

Use tracing paper.

about (0,1)

19. Reflection

The size does not change, but the shape
HOLS &kid i@ §mirror .

Line Z L és avertical line.
Line Y L & ahorizontal line.
Line Y L is adiagonal line.

5 4 3 2 4
.




20.
Enlargement

The shape will gebigger or smaller.
Multiply each side by thecale factor

Scale Factor=3means WLPHYV
PXOWLSO\ E\ ¢

6FDOH )DFWRU 0 PHD
GLYLGH E\ 1

21. Finding the
Centre of
Enlargement

Draw straight lines through
corresponding cornersof the two shapes.
The centre of enlargement is the point
where all the lines cross over

Be careful with negative enlargements ag
the corresponding corners will be the oth
way around.

A 10 B & an enlargement
SF 1 about the pomt (2.1)

22. Describing
Transformatio
ns

Give the following information when
describing each transformation:

Look at the number of marks in the
question for a hint of how many pieces ol
information are needed.

If you are asked to describe a
HWUDQVIRUPDWLRQ fnavi }
of the type of transformation as well as
the other details.

- Translation, Vector

- Rotation, Direction, Angle, Centre
- Reflection, Equation of mirror line

- Enlargement, Scale factor, Centre
of enlargement

23. Negative
Scale Factor
Enlargements

Negative enlargements withok like they
have been rotated

5 (L Ftwill be rotated, and also twice a
big.

Enlarge ABC by scale factor -2, cent
(1,1)

i

“,.-’ "
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24. Invariance

A point, line or shape is invariant ifdioes
not change/movewhen a transformation is
performed.

$Q LQYDULDQW SRLQW p

If shape P is reflected inthd F =TE

then exactly one vertex is invariant.
p

i1 2 @3 4 §

25. Congruent
Shapes

Shapes are congruent if they atfentical -
same shapandsame size

Shapes can be rotated or reflected but st
be congruent.

"\:\ !,/

26. Congruent
Triangles

4 ways of proving that two triangles are
congruent:

1. SSS(Side, Side, Side)

2. RHS (Right angle, Hypotenuse, Side)
3. SAS (Side, Angle, Side)

4. ASA (Angle, Side, Angle) oAAS

ASS does not prove congruency.

BC=DF
Z4BC= /EDF
ZACB= /EFD

.. The two triangles are

27. Similar
Shapes

Shapes are similar if they are teame
shape but different sizes

The proportion of the matching sides mus
be the same, meaning the ratios of
corresponding sides are all equal.

congmient by AAS,

28. Scale
Factor

Theratio of corresponding sidesof two
similar shapes.

To find a scale factodivide a lengthon
one shapéy the corresponding lengthon
a similar shape.

24

16

15

Scale Factor swJ srL saw

29. Finding
missing
lengths in
similar shapes

1. Find thescale factor
2. Multiply or divide the corresponding
side to find a missing length.

If you are finding a missing length on the
larger shape you will need to multiply by
the scale factor.

If you are finding a missing length on the
smaller shape you will need to divide by

the scale factor.

Jem
: Tt

1 Sem

Scale Factor=u Jt L saw
TLvawHsawklxa




30. Similar
Triangles

To show that two triangles are similar,
show that:

1. The three sides are in the same
proportion

2. Two sides are in the same proportion,
and their included angle is the same

3. The three angles are equal

85°

85°
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Topic/Skill

Definition/Tips

Example

1. Quadratic

A quadratic expression is of the form
$tPE"ZE %

where = 4and ?are numbersi M U

Examples of quadratic expressions:
zPFUTEYy
Examples of non-quadratic expressio

tT’"Fwf
{TFs

2. Factorising
Quadratics

When a quadratic expression is in the for
T® E > TE 7ind the two numbers thaidd
to give bandmultiply to give c.

TEYTBrL:TEwW;:TEt]
(because 5 and 2 add to give 7 and
multiply to give 10)

TTEtTFzL:TEvV;:TFt
(because +4 and -2 add to give +2 an
multiply to give 8)

3. Difference

An expression of the forrfY F “Ycan be

TFtwL :TEW;:TFw;

of Two factorisedtogivee f E ";:f F 7; SXT®FzsL :vT E{;:vT F {;

Squares

4. Solving Isolate theT® term and square root both tT0 L {z

Quadratics sides. T L v{

=FL >; Remember there will be@ositive and a TLGYy
negative solution

5. Solving Factorise and thersolve = 0 TFuTLr

Quadratics TTFuLT

=FTE>TL TLrKNT Lu

r,

6. Solving Factorisethe quadratic in the usual way. | Solve P E uT BrL r

Quadratics by | Solve =0

Factorising Factorise::T E wT Ft L r

‘= Ls Make sure the equation = 0 before TLFWNT Lt

factorising.

7. Factorising

When a quadratic is in the form

Factorisex PE wT F v

Quadratics =PE>TE ?
when= M s | 1. Multiply a by c = ac 1.xHFv L&
2. Find two numbers that add to give b af 2. Two numbers that add to give +5 &
multiply to give ac. multiply to give -24 are +8 and -3
3. Re-write the quadratic, replacirgwith | 3. x PE zT FuT F v
the two numbers you found. 4. Factorise in pairs:
4. Factorise in pairgyou should get the tT:uT EVFs:uT E v;
same bracket twice 5 Answer=:uT Ev;:tT F s;
5. Write your two bracketzone will be the
repeated bracket, the other will be made
the factors outside each of the two brack
8. Solving Factorise the quadratic in the usual way. | Solve t TP EyT Fv L r
Quadratics by | Solve =0
Factorising Factorise::tT F $:T EvL r
= Ms5 Make sure the equation = 0 before

factorising.

S
TL—tKNTLFV




9. Square The number you get when yooultiply a 1,4,9, 16, 25, 36, 49, 64, 81, 100, 12
Number number by itself. 144, 169, 196, 225
{~ L { H {z4d
10. Square Thenumber you multiply by itself to get YU XL x
Root another number.
becausex H x Lux
The reverse process of squaring a numb
11. Solutions | Equations involving squareshavetwo Solve T® L tw
to T L &4 | solutions onepositive and onenegative
TLWNTLFw
This can also be writtenab L Gw
12. Cube The number you get when youultiply a «
Number number by itself and itself again t"LtHtHtL z

13. Cube Root

Thenumber you multiply by itself and
itself againto get another number.

The reverse process of cubing a number

/?/HWL w

becausew H w H ws tw

14. Powers The powers of a number are timatmber The powers of 3 are:
R« raised to various powers
wLu
wL{
u' Lty
W L z setc.
15. Whenmultiplying with the same base YHY LY
Multiplication | (number or letter)add the powers =20 = L ¥
Index Law VPHtTL zP’
FHELEY
16. Division | Whendividing with the same base (numb swJsWL sw
Index Law or letter),subtract the powers TITLT
tr=JwZL v=
I LY
17. Brackets | When raising a power to another power, 0L U4
Index Laws | multiply the powers together. xB L X8
WT:’ L stwPs
S
18. Notable | — L Y {{{{{*Ls
Powers VLU
19. Negative | A negative power performs the reciproca e, S, S
Powers o U u LHS L_{
20. Fractional | The denominator of a fractional power ag 8 Jo— 6
Powers DV D WURRWT ty? L kvtyo L WP L {
The numerator of a fractional power acts tw% Y w ’ w’' stw
a normal power. P L '_37;)(6 LEp L—

3 s
=3 L Km0




21. Standard
Form

m HJU

SIANA Q mlDa “Loe"Scoc”

8400=8.4xsr1’

0.00036 =3.6 xsr°8

22. Multiply: Multiply the numbers andadd satMdr’;H:vHsr;Lzaz#r
Multiplying or | the powers
Dividing with | Divide: Divide the numbersandsubtract vawsH?; J tu Hsi%; L sawsH’
Standard Form the powers
23. Adding or | Convert in to ordinary numbersgalculate tay P E vax$’
Subtracting and therconvert backin to standard form LtyrrrEvxrrL usxrr
with Standard L usixHs®
Form
24. Parallel Parallel lines never meet.
25. Perpendicular lines are at right angles.
Perpendicular | There is a 90° angle between them. —
26. Vertex A corner or a point where two lines meet P
27. Angle Angle Bisector: Cuts the angle in half ;
Bisector /
1. Place the sharp end of a pair of ,,/ =]
compasses on the vertex. F :
2. Draw an arc, marking a point on each é__,:_f;---’* ' & )
line. .
3. Without changing the compass put the AnelBscias
compass on each point and mark a centr '
point where two arcs cross over.
4. Use a ruler to draw a line through the
vertex and centre point.
28. Perpendicular Bisector: Cuts a line in
Perpendicular | half and at right angles ¥
Bisector

1. Put the sharp point of a pair of
compasses on A.

2. Open the compass over half way on th
line.

3. Draw an arc above and below the line.
4. Without changing the compass, repeat
from point B.

5. Draw a straight line through the two

intersecting arcs.

Line Biseelor

A B




29.
Perpendicular
from an
External Point

Theperpendicular distancefrom a point
to a line is theshortest distanceto that
line.

1. Put the sharp point of a pair of
compasses on the point.

2. Draw an arc that crosses the line twice
3. Place the sharp point of the compass ¢
one of these points, open over half way 3
draw an arc above and below the line.
4. Repeat from the other point on the line
5. Draw a straight line through the two
intersecting arcs.

30. Given line PQ and point R on the line:
Perpendicular
from a Point | 1. Put the sharp point of a pair of
on a Line compasses on point R.
2. Draw two arcs either side of the point ¢
equal width (giving points S and T)
3. Place the compass on point S, open o
halfway and draw an arc above the line.
4. Repeat from the other arc on the line
(point T).
5. Draw a straight line from the intersectil
arcs to the original point on the line.
31. 1. Draw the base of the triangle using a
Constructing | ruler.
Triangles 2. Open a pair of compasses to the width
(Side, Side, one side of the triangle.
Side) 3. Place the point on one end of the line
draw an arc.
4. Repeat for the other side of the triangle
at the other end of the line.
5. Using a ruler, draw lines connecting th
ends of the base of the triangle to the poi
where the arcs intersect.
32. 1. Draw the base of the triangle using a
Constructing | ruler.
Triangles 2. Measure the angle required using a
(Side, Angle, | protractor and mark this angle.
Side) 3. Remove the protractor and draw a ling

the exact length required in line with the
angle mark drawn.

4. Connect the end of this line to the othe
end of the base of the triangle.




33. 1. Draw the base of the triangle using a

Constructing | ruler.

Triangles 2. Measure one of the angles required us

(Angle, Side, | a protractor and mark this angle.

Angle) 3. Draw a straight line through this point
from the same point on the base of the
triangle.

4. Repeat this for the other angle on the
other end of the base of the triangle.

34. 1. Draw the base of the triangle using a

Constructing
an Equilateral
Triangle (also

ruler.
2. Open the pair of compasses to the exé
length of the side of the triangle.

makes a 60° | 3. Place the sharp point on one end of th
angle) line and draw an arc.
4. Repeat this from the other end of the
line.
5. Using a ruler, draw lines connecting th
ends of the base of the triangle to the poi
where the arcs intersect.
35. Loci and | A locusis apath of points that follow a
Regions rule.

For the locus of pointsloser to B than A
create gerpendicular bisector between A
and B and shade the side closer to B.

For the locus of pointsquidistant from A,
use a compass to draveiacle, centreA.

For the locus of pointsquidistant to line
X and line Y, create amngle bisector

For the locus of points a sdistance from
a line, createéwo semi-circlesat either end
joined bytwo parallel lines.




Year 10 - English Knowledge Organiser Term 5 and 6 - Dr Jekyll and MrtiHyaevledge Organiser

Plot summary:

1. The Stonpf the Door: Passing a strange-looking door whilst out for a waliel&élls Utterson about incident involving a man (Hyde) fping on a young girl. The man paid the girl compensation. Enfieldteaymanhada key to
§Z }}E ~AZ]l Z o - Ebora®dy): 1Coo[-

2. Search for Hyde: Utterson }}le & @EX : ICoo[* AlJoo v ]+ }JA E+ 32 S}ZDEX oC(3 Bl ST} A &J}}( Z]* ]* %% E v X h33 E-IMVvAISIZSUSEZ JIRB v} A Ev :
but Poole tells him that the servants have been told to obey Hyde.

3. EX : I1Coo A« Yul]d & W dA} A 1o 038 EU hEs -qu[PZ}pud} v ]Bvo&E- %ElE . 3J6eKkyEladdhs offhisworries.

4. The Carew Murder Case: Nearly a year later, an elderly gentleman is murdenedsineiet by Hyde. A letter to Utterson is found on the body. Uttersongrises the murder weapon has a brokén olJvP v }( : 1Coo[*X
%}0] 8} : 1Coo[s Z}ue 3} (Jv ,C U pu3 E}G}HA)ZuZhewfnd the otheZhal of the cane and signs of a quick exit.

5. /v] v8 }(8Z > 385 EW hsSS Ee«}v P} ¢ 8§} : IClwd [ Z}@€ *NI[KV, * Zlu Zu}l C us : 1Coo «2}A« Awu[§ o 33 IK BISSE - Mutter kds Been Byedaby Jekyll to cover for
Hyde.

6. Remarkable Incident of Dr. Lanyon: Hyde has disappeared and Jekyll seeies &iagypnore sociable until a sudden depression strikes him. Uttersda Bir. Lanyon on his death-bed, who hints that Jekyll is the cause afdss.ill
h§3 E«}v AE]S « 8} : ICoo v E JA ¢« E Go@EZ XE-uP REJSPvIo v Z [X (>6a@dte fof Uttersondo open after the death or disappearance ofllJékgerson tries to revisit Jekyll but is told
by Poole that he is living in isolation.

7. Iv] v8 §38Z t]v }JAW h&3 E«}v v v(]o E }us (AED ADIEV 3% Gee: IZJoo[}isd]ar. Yiwidv % @& }pus v : ICoo[e ( Ze O}MNYIZ i 138 EIEIE-}Y
Enfield leave.

8 dZ > «3 E]JPZSW W}}o A]¢]8s h§3 E+}v v IXZAHD §}}FuSBEZ IG609¢(E E}ECickinside bounds likeZHyde} Poole says that the voice has been askingsdoida chemical to be brought, but
has rejected it each time as it is not pure. They break down the doorilmthé@ fiwitching body with a vial in its hands. There is also a will which leaesg 8jvP §} h§S Ee<}v v % | P }vsS Jv]vP : ICoo[*

elJvP hS§§ E-+}v S} Hetter> vC}v][e

9. E > vC}v[s E EE 3]A W dZ }v3 v3e }( > VC}A[* 0 B S IEE (@dru}( ZGAoZ - (BmaBlavialv }ops S}}IZ(E}u : ICoo[+ 0 }E S}EC v PJAogqsEu] uRZAX}
man arrives and drinks the potion which transforms him into Jekyllimglsanyon to falll.

10. , VEC : ICoo0[* &poo *8 § u v§ }( Siry ofhol he LEned irtto slpde.dtbegan as a scientific investigationhetolwality of human nature and an attemptto S} C Z]s Z &Il E « o([X A v3pu o
to being Hyde, who increasingly took over and destroyed him.

Key characters Key themes Context and literary tradition Stylistic features &

relevant terms

Dr Henry Jekyll A doctor and experimental scientist who is | -Duality Duality t lots of contrasts in terms of setting, character and themes includeglity vs appearance, Jekyll and | -Imagery

both wealthy and respectable. Hyde, light and dark,
Mr Edward Hyde A small, violent and unpleasant-looking mal _gcience and the | Victorian valuest from the 1850s to the turn of the century, British society outwardly displasgues of sexual | -Simile
an unrepentant criminal. . restraint, low tolerance of crime, religious morality and a sts@tial code of conduct. Utterson is our
unexplained . e
stereotypical Victorian male. -Sensory

Gabriel Utterson A calm and rational lawyer and friend of The implications obarwinism and evolutiorhaunted Victorian society. The idea that humans evolved from &

Jekyll. -The supernatural V U%Z]]veo 8}AYEE] e+ }us }JuE olv P Iw 3}}RE Zu% ERGE]AE -Metaphor

Dr Hastie Lanyon A conventional and respectable doctor and Gothic genretthe key features of the gothic genre are shown through the: setting e.g.linenay, character

former friend of Jekyll. -Reputation e.g. the antagonist of Hyde, the plot e.g. the vicious murder of Carew. Pathetic fallacy
Richard Enfield A distant relative of Utterson and well-know| Victorian Londont the population of 1 million in 1800 to 6.7 million in 1900, with a huge numbegsatiig
man about town. -Rationality from Europe. It became the biggest city in the world and a global capitpbfitics, finance and trade. The city A .
grew wealthy. Alliteration
Poole . | C omahservant. Urban terror t as London grew wealthy, poverty in the city also grew. The overcrowtyeldeciame rife with
-Urban terror crime. Gothic and detective literature became more relevant. -Antithesis
Sir Danvers Carew A distinguished gentleman who is beaten tq Robert Louis Stevensamas born and raised in Edinburgh, giving him the dual identity of being bothisBcartd
death by Hyde. -Secrecy and British. Edinburgh was a city of two sides - he was raised in the wealthy New Town asgzerithis youth -Oxymoron
silence exploring the darker, more sinister side of town.
Mr Guest h§§ Ee}v[e e &E § EC v Z Religion vs Scienc®eligious people believed that you should not go against God and whatdtectaut then
-Gothic scientists such as Dr Jekyll manipulated DNA.




Key quotations

Useful vocabulary

ZdZ u v SE u% o0 ouoC }A E §Z Z]o [+ }h€ v| Aberration Abnormal

ground. It sounds nothing to hear, but it was hellisheto X [ Abhorrent Disgusting

hs§s§ EG-}vW Z/( Z DE ,C I/ +Z oo DE -

Hyde:Zev G o olu Jvo uPZA P Allegory Story with a moral parallel
h&s E+}v }v : ICooW zZ A « Alo Az v z A « C}py| Allusion Reference

:ICooW g§Z ulu vs / Z}}e U/ vZ/ @EH]C} BYXEDr Q| Anxiety Nervousness

uG « 1 UAZ v/ uv}olvP & Z E | Atavism Evolutionary throwback

,C W ZA}®Zl %UECY SE u%o]vP Z]e A] §Ju pv &E

Consciousness

Awareness

,C W « E] C h§S Ee}v ¢ Z% ES] po EoC -u

0}}IVvP] Debased Become lower

,C W ZZ pvS]vP e ve }( puv E% E - (JE&ulsC[ Degenerate Disgusting

h§s E+}vW Z]3 A« ,C AZ} 15838 &§Z thatEus Jv C Depraved Morally corrupt

] %% € ZZ[u vS S} QUE[ E Duali T : lored

o EIW ,C v :ICoo[*Z v AE]&§]vPW z&Z &§A} z | UMY WO aspects explore
ZE}A 872 8§ §Z Alo Jv(op v Z v A15Z & AvQoq Duplicity Lying or dissembling

Dr> vC}vW ZZ Z -warrant writén legibly upon hig | Epistolary Story written in letter form

> VGlvW Z/ Z A Z *Zy Il v [ +Zoov AEE& }AEmics The moral rules you live your
:1CooW Z/ u v (E}u Zv (}ESZ S} o o]( }( A life by

:1Co0[* AE%E *¢]}v }( Z Vo §E[EE}E Vv Eugenics Population control

Pathetic fallacC W Z8Z Alv u § ol]JvP ]((] poSU v (g Evolution Slow change over many yearg
( I ) ) . Feral wild

W}}o W Z oo 8Z]s 0 S A IU AZ 8§ A & ]5§ ,]- §Z 8 o Genre Type of writing

vlPZs v C (}JE *lu <}EZSZ]e EWP[]* A vS§ 18 ot hosi ch

ZA %]vP o]l A}u v }JE 0}+% s}uof etamorpnosis ange _

C WZE-+ v 0}3Z+«(ES&}}o EP (JE Z]uU Perversion Corruption from original

> VCIvW ZZ] ( u ey voC o IU v 8Z afd §| Professional Belonging to a profession;
038 EJ respectable

> vGC}lvW Zo]l uv E *S}E (E}u §Z[ Respectability Socially acceptable

> vClvW ZtzZ § Z tBgpextthoury cannot bring my mind to set on

Restraint

Holding oneself back

%o %o E|[

Savage

Wwild

1CooW Z/ «8}} o0& C }uulS8sS S} %S }IpRZ ¢
profound a double-dealer, | was in no sense a hypocrite; both sides of me w

Subconscious

Part of the mind not fully
aware

dead Ev 3|

Suppression

Holding something down

: 1CooW Z/ olhdt ugly%dhin the glass, | was conscious of no
E %uUPv Vv UE SZ E}( o % }( Ao lul

Jo uu W Z&} +8 Jv uC 0}8 AJ8Z : ICoo A « &} ] 8

long secretly indulged and had of late begun to pamper. To cast it in with Hy|
was to die to a thousand interests and aspirations, and to become, at a blow
(JE A EU %] v (E] v o *eX]|

Supernatural Beyond the natural
Unorthodox Against the usual
Victorian During the reign of Queen

Victoria

© ©

Responding to the extract

Sustained focus on the extract and the question
given.

Coherently structure and present ideas.
Appropriate, sensitive and mature approach to the
extract, looking at finer details and interpretations,
Show a perceptive understanding of events within
the extract and the wider effect they have.

Give a thoughtful and considered personal respor]
that looks at the audience, as well as their own
opinion.

You must reference and give context for the extrg
referring to events and quotations across the play
a whole.

Use pertinent, direct quotations from the extract.
Make reference to and analyseZz AE]3 E |-
language, form and structure as a way of conveyi
ideas and meaning to the audience.

Use precise subject terminology to enhance analy
and use this in an accurate way.

Explore the genre of the text and the contexts in
which the text is viewed by different audiences.
Explore the text in relation to period, location, soc
structures and literary contexts.
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3. PROMOTION & FINANCE FOR ENTERPRISE: LA. A: PROMOTION

1 AIMS OF PROMOTION Buildpositive associations with the Enterprise, encourage customers to
purchase products.

2. MEDIA A generaterm referring to a variety of different forms of communication
including television, newspapers, magazines, websites & the internet.

3. MEDIUM The methods used to communicate with customers.

4 PROMOTIONAL MIX The range of techniques used to communicate with customers.

5. THE MESSAGE The features and benefits of the product, the range of products thénless
offers.

6 PROMOTIONABENEFITS| Inform, remind & persuade customers.

7 ADVERTISING Paying for space in media such as TV, magazines or on the internet.
8. PURPOSE OF ADVERTISIN| 1. To inform people. 2. To persuade people to make purchases.

9. METHODS OF ADVERTISI| Movingimages, printambient, digital, audio.

10. | B2B Business to business a market in which one company sells products to

another company.

23. | TYPE®F MARKET Busines® Business (B2B) & Business 2 Consumer (B2C).
24. | EFFECTI\HROMOTIONAL | Answer the needs of customers, use appropriate methods of promot
CAMPAIGN for the target market.
25. | B2C EFFECTIVE Must give consideration to convenience of promotional method, gain
PROMOTIONAL CAMPAIJF an emotional response from customers.
26. | B2B EFFECTIVE Targets suitable retailers, has knowledge of the customers these
PROMOTIONAL CAMPAI{ retailers serve.
27.l zWwhAr, [ AdZ d '/ »| ZWp+Z[ P}} « J&E « EA] + JE 30C 38} 3Z -
purchase, making them aware of the brand.
28.| ZWh>>[ ~dz d '/ ™| Aimed at getting customers interested in a product to build demand,
that they will actively seek it outExamples include advertising & othe
promotional formats.
29. | FACTORS TO CONSIDER| Improving efficiency & productivity, creating a profitable return on
DECISION MAKING FOR B investment, Logic & facts, reducing business costs, saving time,
MARKETS Increasing revenue.

30. | Size of enterprise, budget available, appropriateness for product/ service, target market.

N SARES PROVOTIONS I (31 [ MARKET A section of the market where people have a similar characteristic. E.g. age
11. | SALES PROMOTIONS The process of persuading a potential customer to buy the produg SEGMENT gender, religion, hobby or interest.
12. | PURPOSEF SALES PROMOTIONSNtice customers, boost sales, attract new customers, clear old st| | 32. | BENEFITS OF Understand the characteristics & needs of customers better, Develop gbods
13. | SALEPROMOTIONS METHODS | Coupons, competitions, money off/ discount, loyalty schemes, freq MARKET services for a specific market segment, identify & choose a target market,
samples, BOGOF. SGEMENTATION | choose promotional strategies that are better suited to their target market.
N PERSONARSENRNGI ] | 33 [ DEMOGRAPHIC | Considers age, gender, income, social class, ethnicity, religion, family size.
14. | PERSONARELLING Where sales agents contact customers directly. SEGMENTATION
15. | PURPOSEF PERSONAL SELLINGCustomer can ask questions and give feedback, sales person car| | 34. | GEORGRAPHIC | Different customers have different needs depending upon wherg the. E.g.
better understand customer needs. SEGMENTATION | urban versus rural people or even people living in the suburbmsigidnose in a
16. | PERSONAL SELLING METHODS| Face to face, telephone, email, video or web conferencing. city centre.
[ USHCI S HONS (R | *° | C2CLIENTATION | porsonalty charscierstics called paychographic seqmentaton. Exan
17. | PUBLIC RELATIONS | Involves using the media to write favourable coverage of a given ésssin SEGMENTATION | personality pharactgnshcs called psychographic segmentat_lon. Exampledd
18 T PURPOSE OF PR Tl her brand | — oic - . Snowboarding equipment, newspapers targeted towards different tyfies o
' €lp n;anagﬁ L7 raln |E?_age, ot posliive (.08, Geeu R Ees voters, ethically produced goods & some goods have an exclusive appeal.
19 | PR METHODS \Igews rolm the genrt]a_rbg _pulblic. nal h' 36. | BEHAVIOURAL This segments people according to how products are ugegmples could
i ress releases, exhibitions, promotional stunt, sponsorship. SEGMENTATION | include usage rates, loyalty & desired benefits.

20. | DIRECT MARKETING When an Enterprise communicates directly with their customers.
21. | PURPOSE @HRECT MARKETIN[GBuildingpositive associations with a brand, introducing customers to new produgts
22. | DIRECMARKETING METHODS | Direct mail, maibrder catalogues, magazines, telemarketing, digital mail.




3. 3. PROMOTION & FINANCE FOR ENTERPRISE: LA. B: FINANCIAL RECORDS

FINANCIAL Financial documents provide records of all trading activities that have taken || 9. CASHNOTES & Everydayash & coins for small purchases.
DOCUMENTS place. COINS
BENEFITS OF Managers & owners are able to calculate revenues, costs & profits/ loss, it 10. DEBIT CARDS Cards which deduct payment for goods & services immediately from y
FINANCIAL provides records of all customers & suppliers for future business & magketin bank account.
DOCUMENTS fault)_/ goods can be tracked & refunds delivered to consumers, a legal 11 CREDIT CARDS A card which enables payments to be deferred for a period of one
requirement. month. Thereafter the debt will incur high costs.
12. DIRECDEBIT An agreement which allows a business to deduct payments directly frg
your bank account. Often used for mobile phone & utility bills.
PURCHASE When buying goods from a | Legal offer to buy goods 13. PAYMENT These are payment facilities enabled by technologlyis can include
ORDER supplier Lists types, quantities & prices of order. TECHNOLOGIES payment through apps such as UBEM®eliveroo, Apple Pay or online
DELIVERY NO1 When goods are delivered tq Lists details about the order payments through ecommerce systems enabled by PayPal.
buyer Used to check off goods delivered
GOODS When goods are received Confirms goods received 14. REVENUE Income earned through product or service sal#tds calculated b¥Price X
RECEIVED NO] Can use it to compare against purchase order before fi Quantity Sold.
payment is made. 15. | OTHER SOURCES | Include interest paid on savings accounts, investment income from sharg
CREDINOTE | When a customer returns | A record showing goods have been returned & refund REVENUE rental income from renting out property, selling assets such as veticles
goods to a seller issued machinery. :
Issue allows sum of money to be used to buy goods or 16. COSTS Financial outgoings that a business faces.
provide discount against a larger purchase. 17. STARTUPCOSTS These are costs incurred when setting up a new businézamples could
- include furnishings, logo design and equipment purchase.
INVOICE A request for money owed Deta_lls the amoun'F owed 18. RUNNING COSTS | These are ongoing costs that the business faces on a daily BExsisiples
after goods have been Provides date for final payment . ) . .
received. include bills, wages & ingredients. _
19. FIXED COSTS Costs that remain the same no matter how many products the business
RECEIPT Proof of purchase Enable a refund to occur : . : .
Details item, date & price. provides. Examples mclude_ rent, msuran(_:e_payments & salaries.
! 20. | VARIABLEOSTS These costs rise as output increases. This includes the cost of stock and
wages.
21. TOTAL COSTS this is the sum total of fixed costs and total variable costs.
Total costs = Fixed costs + Variable costs
22. | TURNOVER OR NH The total revenue earned by the business in a given finanefad It is
SALES calculated byPrice X quantity sold.
23. | COSDOF SALES This reflects the cost of stock purchases over a given period of time.
24. | GROSS PROFIT the profit made on selling products minus the cost of stock purchases.
Gross profit = Turnover Cost of sales
25. | EXPENSES These represent indirect costs of running a businéssaamples include
salaries of managers, administration, marketing & utility bills.
26. | NET PROFIT the amount of money left once all expenses are subtracted from the gros

profit figure. Net profit = Gross profit - expenditure




3. 3. PROMOTION & FINANCE FOR ENTERPRISE: LA. B: FINANCIAL RECORDS

22. | TURNOVER OR | The total revenue earned by the business in a given financial pdtiggcalculated by _

NET SALES Price X quantity sold. Income how much revenue has been earned, how much money was spent
23. | COSDOF SALES | This reflects the cost of stock purchases over a given period of time. how much profit or loss was secured.
24. | GROSS PROFIT | the profit made on selling products minus the cost of stock purchases.
Gross profit = Turnover Cost of sales Statement of Comprehensive Income
25. | EXPENSES These represent indirect costs of running a businé&ssamples include salaries of
managers, administration, marketing & utility bills. £ £
26. [ NET PROFIT the amount of money left once all expenses are subtracted from the gross profit fi
Net profit = Gross profit expenditure Turnover 100,000
When positive, revenue is greater than When net profit is positive, gross profit is positive & .
cost of sales expenses are controlled. Gross Profit £70,000
When negative revenue is less than cost of | When net profit is low or negative, this could be because Expenses
sales. ACTION: gross profit is too low and/ or expenses are too high. Action — :
Increase sales price should be taken to: Administration 10,000
Reduce the cost of sales by finding Increase gross profit
cheaper suppliers. Reduce expenses by checking to see where savings can Marketing 6,000
be made.
Salaries 20,000
REVENUE +COST OF SALES = GROSS PROFIT +EXPENSES = NET PROFIT Net Profit £34,000
27. PROFIT = Revenues earnedexpenses incurred
28. PROFITABILITY Z ( E- 3} pHe]v se[¢ ]0]3C 3} E 3 ]v % E}%}IES]IV }I( E A vy <+ Vv 3 %E}(]5X
29. PROFIT MARGINS Is the difference between the price and the profit made on each uriiis will be determined by the price and the cost of production.
30. HOWTO INCREASE PROFIT MARGINS | Raise price or cut costs of production.
31. PROFITABILITY RATIOS Helps to compare and analyse profits as a percentage of revenue earned.
32. GROS®EROFIT MARGIN (GPM) GP = RevenueCost of SalesThe GPM helps a business to measure its gross profit as a percentage of tug@®/erurnover) X 100
33. NET PROFIT MARGIN (NPM) NP = Cost of SaleS.he NPM helps a business to measure its net profit as a percentage of tur(véi urnover) X 100




3. 3. PROMOTION & FINANCE FOR ENTERPRISE: LA. B: FINANCIAL RECORDS

17. | ASSETS Something that a business owns.
18. | FIXEDASSETS Are long term assets used to generate revenitibey include buildings, machinery & vehicles. lllustrates the value of assets owned and liabilities owed by
19. | CURRENT ASSET{ Are short term assets that can be turned into cash quickly. This includes stock, debtors & cash i the business.
20. | LIABILITIES This is something the business owes.
21. | CURRENT These are short term liabilities which will be repaid within a y&dnis includes overdraft & trade ASSETS c c
LIABILITIES credit to suppliers.
22. | LONG TERM These are longer term liabilities including loans or mortgages. Fixed assets
LIABILITIES Printing equipment 10,000
23. | CAPITAL Refers to the money put in to the businesghis may be through a loan or capital invested to start the
business. Current assets
24. | NET CURRENT | The value of current assets minus current liabiliti€his helps to establish how easily a business can ?:gg'; ceivables g’ggg 8,000
ASSETS repay its short term debits. Cash in bank 1,000
17. | CASH Refers to the amount of money a business holds at a given point in time Total assets ?
18. | CASHBALANCE | = cash inflow cash outflow LIABILITIES
19. | LIQUIDITY refers to the ability to pay your short term debts.
20. | GOOD LIQUIDITY net current assets is positive meaning current liabilities can be repaid. Current liabilities
21. | POOR LIQUIDITY when a business has problems paying its short term debte business is then in danger of | Trade payables 700 1,000
becoming insolvent where it is unable to repay its debts and must ceadmdg). Overdraft 300
22. | LIQUIDITY RATI] analyse how easily a business can repay its short term debts. Net Current Assets 2
23. | CURRENT RATIQ Measures the ease with which Current Assets can repay Current Liabiliiesalculated by (net current assets)
Current Assets /Current Liabilities. This gives a ratio of _Mehasuring how many £s of —
current assets can cover £1 of current liabilities. Total assets less current liabilities 17,000
24. | LIQUIDCAPITAL | a more severe test of liquidity because it removes inventories or stocktfireraurrent
RATIO assets. Therefore (Current assets - inventories) / Current Liabilities. Shareholder funds 10,000
Share capital 7,000
Retained profit
17,000




3. PROMOTION & FINANCE FOR ENTERPRISE: LA. C: FINANCIAL PLANNING & FORECASTING

1. CASHNFLOWS ul}v ¢ vs E]JvP pe]v ee[e+ Exaniples ppuldiKclude sales, loan
capital, share capital
2. CASH OUTFLOWS uluvse }J(uljv C o A]JvP pe]v e <Heamplels incligesigan
repayments, inventories purchases or trade payables, marketing & wages.
3. LIQUID ASSETS any assets that can be used in the short term to carry out purchases.
4. CASH FLOW V. St 0 8 S uvVvS }(SZ pe]v eo[s Z (0}A%%} (S
STATEMENT of time.
5. CASH FLOW calculates the cash flow position of a business over a future period of time.
FORECAST
6. OPENING BALANCH the bank balance for the business at the start of the trading period
7. RECEIPTS the total flow of cash into the business
8. PAYMENTS the total flow of money out of a business
9. NET CASH FLOW | the difference between cash coming into & cash leaving a busireiss.
calculated by cash inflowthe cash outflow
10. | PURPOSE OF A CA{ identify timings of cash inflows & outflows, identify periods where the begsn
FLOW FORECAST | has an absence of cash flow.
11. | CLOSING BANK the bank balance for the business at the end of the trading peridds can be

BALANCE

calculated byOpening Balance +/- Net Cash Flow

CASH FLOW 1.1dentify timings oINFLOWS 1.There may not be enough cash to pay b
FORECASTING OUTFLOWS or wages

2. Payment dates can be renegotiatedq 2. Payments may be delayed

if needed 3. Suppliers may become frustrated.

3.Surplus cash can be invested
4.Expensive items can be bought at tHeoverdraft may be needed.
best time

5.The business can plan to expand

4.An expensive emergency loan or

5. The business may run out of money.

10,000 13,000 10,000
5,000 8,500 12,000
2,500

ENTERPRISES

REASONBOR ¥ Why some businesses experience problems.
CASH FLOW T Not using statements or forecasts, it may overtrade meaning that too much misr
PROBLEMS tied up in inventories,

¥ Debtors may not pay promptly, bills may come in at the same time,

¥ Unexpected payments may be due, its record keeping may be poor.
CASHLOW IN T Different businesses may have different cash flow cycles,
DIFFERENT T some businesses get paid as soon as inventories are sold e.g. retalpssinesses

must pay raw material costs up front.

+H

versa.

Some enterprises are seasonal and have poor cash flow in winter months & vic

11
1

METHODS OF
SOLVING CASH
FLOW PROBLEM;

Cutting costs

Increasing revenue

Reducing stock levels

Delaying payments

Reducing credit periods

Using an early payment bonus for customers
Selling off unused assets

Managing debt

Using an overdraft or short term loan
Delaying expansion plans.

+H +H+ +H+ +H+ +H+ +H+ H H

FOCU®N THE
CLOSING BALANCE

¥he business must have an overdraft arranged if the balance is
negative.

A small but positive figure allows the business to continue operating but
it must manage its cash extremely carefully.

A large positive figure may suggest that the business needs to use this
money more wisely to fund possible expansion.

LOOKFOR OTHER
ISSUES WITH THE
FORECAST

tV WKHUH D SDUWLFXODU FDVK RXWIORZ ZK
position?

1s there a month when sales fall?

i which month are outflows the highest?

i which month(s) is the net cash flow negative?

| F

MOST IMPORTANTL

Be specific and use the numbers & months.




3. PROMOTION & FINANCE FOR ENTERPRISE: LA.C: FINANCIAL PLANNING & FORECASTING

1. REVENUE The income that dusiness receives from sales.
2. FIXED COSTS Do not changeno matter how many products or services a business sells.
3. VARIABLE COSTS | Change depending on how many products or services a business sells.
4, TOTAICOSTS AddingFIXED COSESTOTAL VARIABLE CO8&@ther.
5. BREAKEVEN Occurs when turnover or sales revenue = total co3isere is no profit or loss.
6. BREAKEVEN = Fixed costs / (pricevariable costs)

CALCULATION
7. MARGIN OF SAFETY Howup Z » o = v ( oo (}E& BREAKIEVEN PgINTeached again,
8. MARGIN OF SAFETY =ActualOutput t Break Even Point output

CALCULATION
9. PROFIT = Revenuet Total costs

TYPE OF CHANGE

EFFECT ON BREAK EVEN

SALESNCREASE

Margin of safety increases

SALES DECREASH

The margin of safety decreases
if sales fall below the break-even point, the enterprise will make a loss

PRICENCREASE

F¥he break-even point falls
The enterprise reaches break-even through fewer sales

PRICIDPECREASE

Fhe break even point rises
More sales are needed to break even

INCREASE IN COS
(Fixed& Variable)

¥he number of sales required to break even increases
Profit levels are likely to fall

DECREASE IN COS
(Fixedor Variable)

F¥he break even point is lower, so the enterprise makes more profit.

IMPORTANCE OF BREAK EVEN RISKS OF NOT LIMITATIONS OF BREAK
COMPLETING BREAK EMEN EVEN ANALYSIS
1. Business knows thEIXELX 1. The business does not 1. Assumes all output is sold
VARIABLE COSTS know the costs of 2. Assumes costs remain

2. Can analyse costs to see if they can production &RUNNING the same when workers

be reduced COSTS may get paid overtime or|

3. Calculate & forecasREVENUE 2. Unaware oBREAK EVEN rents may increase

4. Can set MARGINOFSAFETY output 3. Assumes that revenue &

5. v ue ZAZ 5 ]([ v oCe|3. MARGINOFSAFETY total costs are constant.

impact of price or cost changes. unknown.
1. CAPITAL Involves the purchase of fixed assets such as machinery or buildings.
EXPENDITURE

3. REVENUE Involves dayto-day expenditure of the business including inventories,
EXPENDITURE utility bills, rent & wages.

4. INTERNABOURCES | Finance obtained from within the business including retained profit &
OF FINANCE selling assets.

5. RETAINEPROFIT Are profits retained within the business which can then finance busines
growth. There is no interest payable as with loans & the business has
power over how this money should be spent.

6. SALE OF ASSETS Selling unused assets to improve céskv.

7. EXTERNAL SOURCE] Finance obtained from outside the business including bank loaasinkg

OF FINANCE equipment,hire purchase, government grants, venture capital & peer td
peer lending.

8. BANK LOAN An agreed amount of money that will be paid back over a period of timg

9. LEASING EQUIPMEN]| Enables a business to use expensive assets, such as machindniclasve
without having to buy them.

10. | HIREPURCHASE an agreement that allows a business to purchase equipment or machir
in instalments. When the final payment is made the item is then owneq
the business.

11. | GOVERNMENT payments from local or national governments which incentivise busines

GRANTS to set up in an area of high unemployment.
12. | VENTURE CAPITAL | An individual or enterprise that seeks to invest in new businessuves.
13. | PEERO PEER a portal which allows people to invest in business stgo$ through the
LENDING internet.




COMPONENT 1 - Exploring Enterprises : INTERNAL FACTORS
'+ Investigate the factors that contribute to the success of an enterprise - SITUATIONAL ANALY

L 3
What are internal factors? How can an enterprise conduct a situational analysis?
Internal factors can be controlled by an enterprise. This is simply analysing (studying) the situation an enterprise
is in, looking at the market and assessing how it could be

Internal factors can impact costs positively and negatively. The affected by trends and developments. Below is a SWOT

factors which the enterprise need to fully understand are below. analysis explained:
£ Who are the competition? S Strengths of an enterprise

Under?:]aaTi?éTg the 1 What od the customer want form our enterprise? + They m!ght keep customers SatiSerd. .
$ What makes our product unique? Tt They might have a good brand image & reputation.
T They might offer a good quality service.
+ What is the quality of the product? W Weaknesse®f an enterprise
ERIEIINIEISASe, + How is the product priced? , t Staff members might lack training.

¥ Do you offer good customer service, convenience or

a USP? s the product available? T Their improvement plan might not be effective.
T They may not have the best resources.
T They may not have high market share.

. ¥ How /When can orders be taken? Online? In person? "
Planning / t Are we organised? Do we have enough stock? ¥ They may not have competitive edge.
Financing i Do we have enough time to do X?
t

O Opportunitiesthe enterprise might want to exploit
T These are different for each enterprise depending on
what their strengths and weaknesses are.

Have we forecasted as well as possible (£)?

F Are we getting value for money with our marketing

O
|
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gllwv(l:iEpSromotions? M&P can be an expensive cost for T Threats on an enterprise
+ Can we make use of social media to M&P? This is anything which might prevent success for examplé:
¥ Changes in trends/tastes
+ Do we have a contingency plan? 2have we planned for the s Newcompetltors entermg the market
unexpected (in the hope it will never happen?) ;i; Existin\g Competitive Changing what they do
HR Costs t 'R ZH KDYH PRQH\ UHDGLO\ DYDLODEOH IRU FRV EK DUHQ.
H[SHFWHG LQ WKH KRSH ZH-00 QHYHU QHHG LWF ™ T = = = = = = = = = = = = = = = = = = = = = = = = = 1
f Examples: Advertising for a new role/ coverftraining. 1 Enterprises have to consider how each other the factors I
I might effect them below. This is a PEST analysis. I
- Political E- Economic T - Technological
¥ Changesto laws ¥ Employment levels ¥ Changes in fashion/trends ¥ Developments in computing
¥ New party in power ¥ Exchange rates (import / exports) ¥ Ethical considerations (e.g. Fair Trad¢) ¥ Mobile device developments
¥ Effect of wars, tax, environment ¥ Wage levels ¥ Environmental considerations ¥ Machines taking the place of humans
¥ Relationships with other countries anfl ¥ Interest rates (on loans/overdrafts) ¥ Demographics (is it growing?) ¥ Increase in e-commerce
the EU T Disposable income ¥ Attitudes towards work
¥ Level of customer education




Knowledge Onganiser = CI

External factors can not be controlled by the enterprise. Once

the enterprise has been made aware of changes they need act

Factors that impact on COSTS

on them and over come them!

External factors which may impact an enterprise might be:

Cost of energy (variable costs)  2Gas, Electricity, Oil

The cost of raw materials  2these are items which are needed

for producing a product (wood for a joiner for example)

F The cost of borrowing money  2if you borrow money from a
lender you will have to pay interest on the loan. If the interest
rate goes up then so does your cash outflow.

¥ Renton apremises 2if rent goes up then this impacts your

HQWHUSULVH:-V FRVWYV

Increase and decrease in costs is known as fluctuation. Enterprises
need to be prepared for costs to fluctuate.

MARKETING (External factor)

¥ Marketing costs a lot of time and money and these costs can
also fluctuate. In these instances enterprises might choose to
use free marketing e.g. social media, blogs, vehicle
advertising, email campaigns.

¥ They may also choose low cost marketing: radio advertising,
business cards, flyers or newspaper advertising.

SELLING COSTS (External factor)

¥ When selling the enterprise must consider wages (they can rise
and the minimum is set nationally), packaging the goods and
delivering the goods (the cost of the raw materials can also
rise)

GOVERNMENT REGULATIONS

F Costs can rise due to companies (such as insurance
companies) needing to cover their costs.

F Costs can also rise when governments make changes such as
to wages, taxation and pensions.
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Revenue is how much an enterprise earns from selling its goods and services. Changes in revenue happ

money an enterprise receives goes up or down. Enterprises cant also stop or influence the cha

en when the amount of
nges in revenue, but they havet o

respond to the changes to ensure they are still successful.

Competitors
What are competitors doing which might impact your revenue?

What new enterprises are coming into your market?

How can you attract customers or encourage repeat purchase to gain I If the economy is in recession people will be uncertain about the

competitive edge?

Consumer Confidence
This means how much confidence consumers have in the economy.
t/(s8z }IviuC ]« PE}IAJVP %0 }%0 « i} » AJod

future and will be less confident in spending.
¥ This impact the revenue of enterprises.

Consumeibehaviour
Consumer tastes have an impact on revenue - this creates a social
pressure on enterprises to change their product portfolio.

Consumeteqislation

Sometimes things which enterprises sells are:

Bannedtthey become illegal

T&Cs change for example how goods can be packages/promoted
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What are some of the reasons for
SME success?

T Skills relevant to the market

1 Hard work and effort

1 Determination

T Resilience

 Ability to develop and train
staff

T Ability to motivate staff

¥ Providing a high level of
customer service

T Meeting and exceeding
customer needs

¥ Having experience of the

market. /

What are common aims of SMEs?

t Survival

T Breaking even

1 Making a profit

T Meeting customer needs

J

How can the success of an enterprise be measured?

Customer satisfactionMeasuring customer satisfaction is done by looking
at whether the enterprise has a good reputation and whether customer tell
others about the enterprise. If this is the case, then the enterprise will be

Profit: This is the revenue left after all
costs have been taken away. Most
enterprises make a profit. For private
enterprises, profit is essential. For
social enterprises, profit is called a
surplus, this is reinvested into the
organization. Social enterprises are,
for example, charities.

There are many liquidity ratios you
need to know to be able to measure
this, but in essence as the profits go up
the enterprise is demonstrating
success.

Customer satisfactionMeasuring
customer satisfaction is done by
looking at whether the enterprise
has a good reputation and
whether customer tell others
about the enterprise. If this is the
case, then the enterprise will be
deemed to be a success.

deemed to be a success.

Market Share This is the
percentage of the market
which the enterprise controls.
For example if the whole
market takes £100,000 per
year but my enterprise takes
£10,000 on its own then my
enterprise has 10% market
share.

Survival: This means continuing
to operate for a long time after
the enterprise has started. 90%
of enterprises survive their first
year, however, it is known that
the first 5 years are the most
challenging.

The longer an enterprise trades
for the more successful it is
likely to be. This is due to many
of the skills required for success
have been learnt and enhanced.
Experience assists with success.

Making a living:If an
entrepreneur is happy and
conformable financially then

§Z C[E& u l]vP epu
enterprise. Most enterprises are
set up for independence.

e }(8Z ]1CE



BTEC SPORT xUnit 1 Exam *Knowledge Organ iser

PHYSICAL FITNES S

TOP TIPS
EXPLAIN GIVE A REASON FOR Cardiovascular (Circulatory) Systamove
SOMETHING blood around the body and is made up of

1. Blood vessels
2. The heard
3. Blood

DISCUS$WRITE ABOUT SOMETH]|
FROM DIFFERENT POINTS OF VIf
LIKE WRITING ABOUT THE

ADVANTAGES AND DISADVANTA( moves air into and out of
the body. It is made of

NAME/GIVEtGIVE A SHORT ANSW

DESCRIBEWRITE ABOUT WHAT

SOMETHING IS LIKE The two systems together make up the
TheCardio System

CALCULATEYOU WILL NEED TO D
SOME MATHS TO WORK OUT YOI
ANSWER AND SHOW HOW YOU [

IT

The we breathe and theutrientswe
eat are transported around the body in the
blood. Our cells used them to make
Thecardio 'system also allows the
INTERPREfT'YOU NEED TO USE TH body to breath out waste products like:

INFORMATION GIVEN TO WORK (

PHYSICAL FI TNES S

AEROBIC ENDURANCThe ability of the cardiorespiratory system to work]
efficiently, supplying nutrients and oxygen to working muscles during
sustained (long lasting) physical activity.
MUSCULAR ENDURAN(CHhe ability of the muscular system to work
efficiently and continue to contract over a period of time against a light
moderate load. E.g a tennis player holding their racket and playing
throughout the game.
MUSCULAR STRENGI{THhe maximum force (strength) that can be
generated (made) by a muscle or muscle group.
FLEXIBILIT¥Being able to move a joint fluidly (smoothly) through its
complete (whole) range of movement
SPEEDN Speed (m/s) distance (m)
Time (s)

There are three types of speed

1. Accelerative speed sprints up to 30 m

2. Pure speed sprints up to 60 m

3. Speed endurancesprints with a short recovery period (rest) in

between

BODY COMPOSITIGNhe relative ratio (amount) of fat mass to fat-free

SKIL L *RELATED F ITNES S

BALANCH The ability to maintain centre of mass over a base of

support

1. Static Balancet a still balance like a hand stand
2. Dynamic Balance a moving balance like a cartwle

POWERt The product (result) of speed x strength e.g. you need

power to drive the ball in golf

AGILITYt The ability of a sports performer to quickly and precisel
(exactly) move or change direction without losing balance or time
CAORDINATIONThe smooth flow of movement needed to
perform a motor task efficiently (wasting as little energy as possi
and accurately (without going wrong)

REACTION TIMEThe time that it takes for a sports performer to
respond to a stimulus and initiate (start) their response.

Each sport needs different types fiysicalandskill-related fitness.

You need to be able to identify thgpes of fithessneeded for
different sports. To do this, think about what the sports performer

need to do in that sport.

THE ANWER
mass in the body
HEA RT RATE BORG (6-20) RATING
OF PERCEI VED
ta programme of exercise designed to improve HEART RATEThe number of times the heart beats per minute (bpm) EXER TI ON SCAL E or Th b th |
performance. MAXIMUM HEART RATtlso calledHR max the BORG (6-20) RPE € NUMDErS on the scale
There areour basic principles (guidelines) that a coach can follow HR max = 220 age (years represent thedifferent levelsof

t How often to train per week
t How hard to train
t How long to train

t What training method (way of exercising) should be used to improve the ty

of fithess needed for the sport.

There are also seven more principles of training that a coach needs to think about
t Training should be linked to the sport, activity or physical/skill-rele

fitness goal

t Fhe-programme should be designed to

meet individual training goals and needs e.qg. a fitter person would have a harder
training programme
t It is important to do different activities in training to the performer
} <\t pet bored

=Asports performer needs to rest to allow their body to

recover. During recovery the body repairs any damage caused by exercise
{In-arder to progress (improve), training needH®
demanding enough to cause the body to adapt(change) to improve performance

t'How the body reacts to training loads by increasing its ability to

cope with those loads

t If training stops or the intensity of training is not sufficient
(enough) to cause adaptation, training effects will be reversed.

e.g. the maximum heart rate of a 25 year old is

HR max = 22@ age
=220t25

=195 bpm

HEART RATE TARGET ZONES

Heart rate needs to be high enough to cause adaptation and improve fithness
The target zone recommend to improve cardiorespiratory fitness is

TARGET ZONE = 60%-85% of HfF ~ %, Ee«}v[s u £AJupu Z

WORKING OUT TARGET ZONES
1. Calculate maximum heart rate (HR max) or they might give it to you

HR max = 22@ age (years)

2. Findupper training threshold = HR max X 0.
3. Findlower training threshold = HR max X 0.

4. Write down the lower heart rate followed by the higher heart rate to shoy
the target zone
e.g. 220t 25 (age) = 195 bpm
195 x 0.85 = 165.75 = 166 bpm (upper training threshold)
195 x 0.60 = 117 bpm (lower training threshold)

Scale

6 No exertion at all
7 Extremely light

8

9 Very light

10

11 Light

12

13 Somewhat hard
14

15 Hard

16

17 Very hard

18

19 Extremely hard
20 Maximal Exertion

Target zone = 117 bpnh 166 bpm

exercise intensity.

The BORG (6-20) can be used
*S]u § %o Ee}v[e Z

HR (bpm) = RPE x

e.g. a perform says they are

working extremely hard and

give a RPE scale rating of 19

their estimated heart rate is

HR (bpm) = RPE X 10

=19 X 10

= 190 bpm (beats per minute)

You can also estimate a RPE
scale/Borg scale rating from a
heart rate (bpm)

e.g. a performers heart rate is
154 (bpm)

RPE scale = HR (bpm) -
=154 + 10

=154

=15 RPE Scale




BTEC REVI SION NOTES

TRA INING AN D SAFETY

Fitness training methodsare different ways of exercising.
Each training method improves a different type of physic
or skill-related fitness.

Advantages and Disadvantages

Each fitness training method has advantages and
disadvantages like

VARIETY isthe training method interesting enough?
INTENSITYis it easy to vary the intensity?
PURPOSIEdoes the training method improve the type of
fithess you want it to?

COSTt Does the training method needs lots of expensive
equipment?

SPORT SPECIFKIan the training method be changed to
suit different sports?

SAFETY Can the training method cause injury.

e.g. an advantage of stretching is that it increase flexibilit
A disadvantage of stretching is that it can cause muscle
soreness.

SAFETY

Use equipment safely

Use training methods in the right way
Warm-up=(gentle exercise + stretching) increase heart
rate and help prevent injury

andcool down =(gentle exercise + stretching) decrease

heart rate and stop muscles becomes sore.

FITNESS TRAIN ING METHOD S
FLEXIBILITY TRAININSTRETCHING IS A FITNESS TRAINING METHOD

STRETCHING IMPROVES FLEXIBILITY

STATIC STRETCHIwhen you stretch a muscle and hold it in one position. There are
types of static stretching.
1. ACTIVEt This is where you use your own muscles to hold the stretch
2. PASSIVIEThis is where you use someone or a piece of equipment to help you hold
stretch.

BALLISTIC STRETCH{Is@hen you make fast movements (bounces). A disadvantage ¢
this type of stretching is have it can strain (pull) your muscles or make them sore.

PROPRIOCEPTIVE NEUROMUSCULAR FACILITATION (PNF)

You need a partner for PNF stretching
1. The performer stretches the muscle as far as it can go.
2. A partner helps hold the muscle in that position while the performer pushes back again
the partner for 6-10s.
3. The performer relaxes.
4. So the partner can push the stretch a little further.

Muscles have a stretch reflex that stops them stretching too far. PNF works by stopping that r¢

so the muscle can be stretched further. It improves mobility, strength and flexibility. It can helg
people to recover from injuries.

FITNESS TRAIN ING METHOD S
STRENGTH TRAINING

FREE WEIGHTare weights that are not attached to a machine
You can use free weights to improveJSCULAR STRENANDMUSCULAR
ENDURANCE

You can target particular muscles
You can injury yourself if your technique is wrong

There are two types of exercise witlee weights
CORE EXERCISHBese wort muscles that make the spine and pelvis stable
ASSISTANCE EXERCtJhese work muscles that are specific to a sport or exerci

Always dacore before assistancexercises
Change betweenpper and lowerbody exercises

Change betweepush and pullexercises

Weight trainingis done inREP St one specific exercise arigE TS the number of
reps you do without a res

1RM t one repetition maximun tis the heaviest amount you can lift in one rep
The intensity of training can be described as a percentage of 1RM

MUSCULAR
STRENGTH

STRENGTH
ENDURANCE

ELASTIC STRENGH

Medium loads and
medium reps

Highloads andow reps | Lowloads andhighreps

90% 1RM and 6 reps | 50-60% 1RM and 20 75% 1RM and 12 reps

reps

FITNES S TRAIN ING METHOD S

SPEED TRAININ@oing as fast as you can for a short
distance and then having lots of rest.

HOLLOW SPRINT8o more than one sprint with a jog or
walk in between called the hollow period

INTERVAL TRAININ@o a period of work and a period of
rest and recovery. To work on Speed you need periods 0
higher intensity (close to maximum) for a short time. You
can increase the number of rest or recovery periods. E.g
run for 15 seconds as fast as you can and then recover f
minutes.

ACCELERATION SPRIyd&t keep increasing the pace
over a short distance. You can start either standing still 0
rolling (easy jogging) and slowly get faster. In between e
acceleration sprint you rest by walking or jogging slowly.
You can make acceleration sprints harder by doing

HILL SPRINTS

RESISITANCE DRILLS

COACHES NEED TO MATCH TRAINING METHODS T(
SPORTS AND USE THE PRINCIPLES OF TRAINING T
THEIR PLANNING.

FITNES S TRAIN ING METHOD S
AEROBIC ENDURANCE TRAINIREseasing how long you can exercise for

CONTINUOUS TRAININIs where you keep doing the same exercise without any rest for at le:
T ulvps «X zipl % S 8 C %o v S u} &S ~ulSIRU-S}y:
FARTLEK TRAININGavolves changes in intensity with no rest. You can change the intensity b

1. changing the speed
2. changing the steepness of the ground
3. adding weight

Advantages are that you can make it hard or easy to match a performers INDIVIDIUAL NEED
can use it in lots of different activities like running, cycling and rowing.

INTERVAL TRAINING his involves periods of working and resting. Work usually ranges betwe
30 seconds and 5 minutes. Rest period can include sit down, stand still, walk or jog. Teimpro
aerobic endurance you need to have longer more intense periods of working and shorter brea
VO2 max = the maximum amount of oxygen uptake. It is the largest amount of oxygenuhat yo
body can use every minute. Measured in ml of oxygen per kg of body mass per minute (nmjkg;
The intensity of training can be measured as a percentage of VO2 max.

CIRCUIT TRAININ®You can adapt a circuit to work on aerobic endurance for example using
exercises like skipping and shuttle runs. You can increase the time spend at each station and
frequency of training.

FITNESS TRAIN ING METHOD S
STRENGH TRAINING

CIRCUIT TRAINING FOR STRENGTH
You can use circuit training to improve muscular strength, power and muscular
endurance. You can also adapt a circuit to work on skills like agility and coording
or to work on aerobic endurance.
In circuit training you do different exercises one after another.

x Each exercise is called a station.

x You normally have 6-10 different stations.

x All the stations make up one circuit.

XZ}H Vv §} %ops 82 A E ]*e e ]v VIE & 5§52 35 }

straight after each other to stop the muscles getting too tired.

PLYOMETRICS FOR EXPLOSIVE POWER AND MUSCULAR STRENGTH.

The exercises are linked to the sport
The performer usesaximal force(as much power as possible). This force is need
to lengthen and then quickly shorten the muscle for example two footed jumping
over hurdles.

The working muscle lengthens when you land this isztiieentric action

The working muscle shortens quickly when you jump this isdheentric action
Used by sprinters, hurdlers, and team games where jumping is important like nef
volleyball and basketball. The disadvantage is that is can make muscles sore.




BTEC REVISION NOTES

Component of Fitness Fitness test Advantages Disadvantages
Body Mass Index (BI\/II) x Easy to carry out X Results can be misleading as muscles weighs more than fat
Bioelectrical Impedance Analysis (BIA) X Quick and gives instant results x  Needs expensive equipment
Body Composition [BIA = electricity passed through body friRISTio ANKLEMeasures the resistance from muscle and fat X Can be repeated over time with no bad effects
Sum of Skinfolds X Provides accurate percentages of body f X Needs specialist equipment
UseCALLIPER& measure skin on thBICEP, TRICEP, SHOULDER BIndDEP. X Problems with people revealing bare skin

Add measurements together and use to theCKSON-POLLO@Knogram (4 lines)

Multi Stage Fitness Test (MST/BIeep test) x Can test a large group at once x Practice can affect score
Cones/Line0m apart run in-between to the sound of a beeBradually gets fasterLonger you can keep X Tests to maximum effort X If outside environment may affect
the higher the level X Scores can be subjective
Aerobic Endurance Forestry Step Test x Low cost x People may struggle to keep with the stepping pace on metron
Step/ bench- 33cm for females and 40cm for males. Step up and down for 5 minutes to a metronome x  Can be performed inside or outside
(90bpm/22.5steps a min)Record pulse and compare to table X Can test on your own
35m sprint test x  Little equipment so cheap to run X Human error when timing can affect results
Speed Sprint from one line/cone to another in a straight line over 35m. Record time and compare tathardata
Grip dynarmmeter x  Simple and easy test X  Must be adjusted for hand size which may affect results
Strength 3 attempts, squeeze grip dynamometer measure result in Kg or KgW. x  Lots of normative data
Sit and Reach test x  Well known test X measures lower back & hamstrings only
Flexibility Both feet against thsit and reach boxreach forward and measure result in centimetres x  Quick and easy to perform X length of arms and legs affect results
Sit up and press up tests X Quick and easy X  Arguments of correct technique can affect results
Muscular Endurancécount how many sit ups or press-ups completed in 1 minute x  Little equipment
X Large groups at once
Illinois Agi|ity test x Cheap and easy to conduct X Human error with timing can affect results
Agility Cones set up as in the image, lie face down on the floor at the start, measure timepbete course in x  Weather or surface conditions can affect results
seconds
Vertical Jump test X  Quick and easy X  Technique can affect result as need to jump and mark wall

Stand side on to wall reach up and mark/set the measure. Standing jump as highibkegosshing wall.

Power Measure between two marks/measures

Interpretation of fithess test results:
x Compare fitness test results to normative published data
Compare fitness test results to those of peers
Be able to draw conclusions from data results
Be able to analyse and evaluate test results
Be able to suggest and justify appropriate recommendations for improments to fitness for a given
purpose/situation/participant
Be able to suggest and justify appropriate fitness training methdtat could be used for a given
purpose/situation/participant.

Requirements for administration of each fitness test: pre-test procedures (infed consent, calibration of equipment)
X Knowledge of published standard test methods and equipment/ rescesaequired

Purpose of each fitness test X
Accurate measurement and recording of test results X
Basic processing of test results for interpretation (using published datdeatand appropriate units for comparison purposge X
Ability to safely select appropriate test(s) for given purposes, siioas and/or participants X
dZ 8§ Eue ZE o] ]0]3C[U ZA 0] ]3C[ VZZ%SE 5 oJACEZE o § &}
Advantages and disadvantages of fithess test methods.

X X X X X X
x




BTEC REVISION NOTES

Reliabi lity and validi ty of fitn esstests

Reliability and validity are two of the major problems with using fitness tests. Reliabftitg to the degree to which
repeated measurements give the same result, and validity refers to the honesty of the tegt put it another wayt the
degree to which the assessment method measures what it is intended to measure. The reliahiligsbis often called
into question because the same person gets different results each time they complete it. This can berfbeaafu
reasons:

- Is the test being conducted properly?

- Has the person suffered an injury since they last took the test?

- |Is the equipment damaged in any way?

- Is the person using the same amount of effort each time?

(Something that it is very difficult to determine.)

The results of a fitness test are more likely to be valid if the test uses expensive, specialipeteat, which has been
designed specifically for the purpose of carrying out the test. If the test uses cheapstla&yéems, such as a stopwatch
and a ruler, it is likely to be less valid. The validity of a test is much more céegalrer the test measures what it is
*U%0 %o}t S} u cpHE }E ]S } ev[EX W EZ %o SZ 5 £ ®o}F(A G]eJWE}
multistage fitness test. This test has been designed to measure cardiovascular endurance (the ability toarse oxyg
effectively over a period of time). According to the rules of the test, the higher tle & the test reached, the higher the
level of cardiovascular endurance. However, there are two serious flaws with this method:

- The test is supposed to measure cardiovascular endurance but a high degree of agility (to turrequickime), power
(to push off each time), and speed (to maintain the required pace between bleeps) are also refairéus reason, a
swimmer may have a very high level of cardiovascular endurance but not retach@ spo 3 He 8$Z2 C &
good runner. The test might, therefore, give invalid results.

- Towards the higher levels of the test, the performer may well be working anaerobicallptvitkygen) and, as a result
would get a very high score even though their cardiovascular endurance was surpassed before the enestf fih this
case, the results would again be invalid. This is not to say that the test should not be used. It el@sgagigindication of

v ]Jv JA] p o[+ @& J}A « po &E (]3orcarryoutzanicecao b adinindsiered to lots of participants at the
same time. The key with any fitness test is to understand how useful the results are going to benaaicetsure that it is
carried out properly, according to the protocols (rules) of the test, to ensure that the resaltelable and valid.

Administration processes of the BIA

- Advantages of the BIA

It is easy and quick to use so can be easily administered.

It is non invasive so that the person being tested does not have to remove @ninglother than shoes and
socks so it is less embarrassing than the skinfold test.

Unlike other forms of body composition assessment such as the skin fold test @dnde embarrassing for
the client.
/] & 08§ S8} % Ee}v[e P v Pv & pvo]l DI/X

- Disadvantages of the BIA

The equipment is quite expensive so people may not be able to affer@rtler to administer the test.
Reliability and validity depends upon the correct protocol being followduch can be difficult to oversee:
o Client inputs own data incorrectly

} 0] v8 } ev[S (}o0}A % GE
o Calibration of equipment.
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Question 18

An athletics coach is deciding whether to use the forestry step test or the ratidtije fithess test to gain the best results for the aerobic endurance ofatleletics group. Discuss whether the athletics coach should use the foresap test or the

multi-stage fitness test to assess the aerobic endurance of her athletics gr(@)p.

It is important to note that when the question command verlZis] « ptkhatflearners are fully aware that this entails an extended answer in whichinbkyde strengths and weaknesses or advantages and disadvanta§ése information provided
in the stem and question. In this question, a conclusion is required as learners are asked to discusstiMd&thestry step test or multi stage fitness test should be used so a decision of the preferred test should be provided.

This question was not answered well by many candidat®¢hist many candidates were aware of the multi stage fitness test (MSFT it appeared that many cardidatery little knowledge of what the forestry step test entailed.

Most candidates were able to make general statements about the administration of the tagki tness test but these were very basic.

Where learners did respond well to the stimulus, they had described a range of points about each testgnedlidiity, reliability, specificityand practicality and then make the link as to how and why each would be better used to asséss aer

endurance of an athletics group. It is therefore important that learners are not only taught the types of fitnesavasable for each component of fitnebsit that they are fully aware of how the tests are appropriate in terms of the information

presented in Topic C.3 Requirements for administration of each test.

Student Response 1:

Both multi-stage fitness test and forestry step test is a good test to measure aerobic enduraweser both have strengths and weaknesses. Multi-stage fitness test is easy to set up and can tesiupsgefgreople at the same time however the
§ Z chEect which ¢aUi§ lead fodhaiwrenjgiftesisity filEeagtmitngid be applied. The foréspryest is also fairly cheap to set

E +puod3 u C v}3 oA C- HE 3 He 3Z %o ES] 1% v3 u]PzZ3 v}i3 PJA

up with only a small amount of equipment used.

JA A E §Z § o5 ]Jev[s 3Z & HE § v v eJu S]u -

UV (OJE XS &o)dEA A& U Pas Bwildld {hd-i§easEEQ step because they have longer legs but if someone small washdoiest that would find it harder
because they have shorted legs which would be unfair. Also if someone has bad rhythm they nebildifficult to step in time with the beats, which could lead to incorrect results. ktthia multi-stage fitness test would be the best test to use
because it is easier to test large groups of people and is fairer then the forester step test. Also there iermaiii@s date that can be compared against.
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Term5 & 6
AO01, AO2, AO

Coursework. You will be startin
to develop your initial ideas anc
studies from term 3 & 4. This
will include looking at relevant
artists to your project and using
their ideas, techniques or style
to help influence and develop
your own ideas.

You will be exploring with a
range of media still but starting
to decide on a definite direction
for your work towards the
middle of term 6.




AO 1 (20 marks)

The artists,
designers, you
look at. (They
must be relevant
and inform your
work)

Reference to film,
music, TV, popular
culture.

Any exhibitions or
museums you
have visited.

Any other cultural
visits, festivals,
Z00s eftc.

A03 (20 marks)

EVIDENCE!

Recording and
presenting your own
ideas!

Primary observationse
drawing, painting,
printing, photography
from your own sources
or life!

ANNOTATION!

A02 (20 marks)

Experimenting with different
materials (paint, clay,
crayons, ink, fabric, wire)

Use a variety of different
processes (printing, painting
drawing, sculpture, collage)

Think about scale; think big,
think small, think outside
your sketchbook.

Move out of your comfort
zone and be creative!

AO4 (20 marks)

FINAL PIECHEIhat can you
realistically make in 10
hours?

REMEMBER!

The final piece is only a
small part of AO4. Have you
made mock up versions of
your final piece? Have you
tested materials?

Have you planned your
exam time?
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